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Objective Paper
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6x10%8kg 6x1026kg 6x10%%kg 6x10%kg ULt 1
Mass of the Earth is:
wh gh wm wg P =(PE)S/ ’JA:*’: 2
Potential energy (P.E.) =
A:Fl ax% le% ﬁxi B=__ JW:CUJ’G'Z:L}/”L’ 3
= According to Pascal's law, F =
140°F 133°F 122°F 100°F ‘sl S0°C| 4
50°C is equal to:
98.6°C 37°C 37°F 25°C oS A IS eV
e - Normal human body temperature is:
4 oA 7% Jb ‘e SYShenr| 6
Copper Iron Gold . Water Popl conductor of heat is:
Jeus” (s L/l vl Sodre i§
. % bl el 7
Level of a liquid Volume Area Mass A measuring cylinder is used to measure:
3 » Jr o e | 8
Second Meter Mole Newton Which is a derived unit?
r g ] :Jn&;&/ Lo b Jak -f@{d}’({{)ﬂ»‘f&-ﬁg 9
~10ms 10ms 0 Ims A ball thrown vertically upward, its velocity at the
highest point is:
my? piia v my? e sty (F) w:’dﬁédﬁ.{ 10
. : a e Centripetal force (E.) is equal to:
0.866 0.707 0.6 0.5 el cos60°| 11
Value of Cos60° is:
&
Sw =0 ZF=0 Im=0 Zt=0 iq-L/J?:J EASEI 12
The first condition of equilibrium is:
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